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£oR ("ﬁ) The area between the z-axis and the parametric curve z =t +¢2 y =t —¢2 0 <t = 1
is given by [ydz and has value
2?2

Fo  (d) T g 1 is the equation of a/an

P 1

To3 @ Find the vertex of the graph of y = 22 + 4z,

@ The equation 212 4 3z + 2 — y ="7is called s

polar coordinates, give the formula for

o z“7 s Write ’the equation r = 2cos6 — sinf in rectangular coordinates and simplify your answer.

2 .
(a) 2’+y*=2-y (€) (z+y)=2z-y (i)
(b) z2+y?=212—y (f) None of the above 6
() ?+2y=2z-2

(d) 202 +y*=2z+y

38 Identify the equation which goes with the polar graph,

(a) r=2cosh, §€[-%,2] (e) r=1+sinb, 6 € 0,27,
(b) r=3+sin(50), 0 € [0,2n) (f) r=sin(36), 6 € [0,Z]
(¢) r=1+cosh,8e]0,2n (g) r=1+cos(26), 6 €0,2n]

(A o— 4 ac In 9l WY None of the above




fo5 The area enclosed by the polar curve r = 3 +sind is
(a) 5w (e) 4.57
(b) 4m (f) 19«
() 9r (g) 9n?
(d) w/4 (h) None of these

¢, 8. The graph of the polar equation 7 = 2 cos(nf) has how many petals?

2T

None of the above.

(a) n petals if n is even, 2n petals if n is odd (e) n petals
(b) n/2 petals if n is odd, n petals if n is even (f) n/2 petals
(c) mn petals if n is odd, 2n petals if n is even (g) None of these
(d) 2n petals
o3 @ Find the area enclosed by the polar curve r = 2+ sin 6 for 6 € [0,27].
a) om b) B J
d) 4m e) I f)
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@Identify the equation which goes with the polar graph, -t -

2'\_‘_‘/
a) r=1+2cosf b) r=1+cosf c) r=2+sind
d) r=2sin(20) e} r=2cos(20) f) None of the above.

?D”\ 7:9"17.‘ Consider the ellipse 2?2 +4y° = 1.

(a) Give the foci of the ellipse.
(b) Find the area of the ellipse.

(c) Write the equation of an ellipse in polar form .

(d) Write down (but do 1

ellipse in the parametric form z =1,y = yt), -1 <t <L

ot evaluate) the integral that represents the perimeter of the above



{0 Given the polar curve r = 6%, 0 <6 < 3/2,
sketch the curve;

@ find the area swept out by the curve;

@ﬁnd the arc length.

—FEnd—
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WOl 23 (8) Sketch the graph of r = €%/2.

(b) Find the area inside the curve 7 = e?/? and outside the circle r =1 for 0 < 6 < 7.

(c) Find the slope of the polar curve r = ¢?/2 at the point [1, 0].

124, The position, in feet, of a slow pitch softball at time ¢, in seconds, is given by the parametric
equations
= 18\/§ t
y = —16t> + 18t + 4

(a) What is the rate of change of the helghtof the ball with respect to its horizontal position
when it crosses the plate at ¢ = 1.2 seconds?

(b) Set up but do not evaluate an integral giving the arc length of the path of the ball for
0<t<1.2.

#ole 13. Find the area enclosed by the polar curves r = 2 — cos# and r = 1.

/5% @ (6 points) Here is a parameterized curve called a cycloid. find the equation of the tangent line
when 6 = 7/3.
z(f) =60 —sinf
y(0) =1— cos(6)



